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Answer the Following Questions: (50 Marks)

I. Write the scientific term:

1- A function where the program execution begins.

2- Introduce a name, identifier, or symbol to the compiler.

3- Combines both data structure and behaviour in a single entity .

4- A value that enables a program to indirectly access a particular data item.

5- An ordered collection of variables, each of the same type, referenced by one name.
6- Terminate single-dimensioned character array.

7- Function that compares two strings.

(10 marks)

.......................

.......................
.......................
.......................

.......................

saee

8- A way of thinking about problems using models organized around real-world concepts.(........................... )

9- Make the best possible class without worrying about how the class will be used

10- Collection of variables referenced with one name.

I1. Check the answer with True ( \/ ) or False ( X )

1- char is signed on some machines and unsigned on others.

2- A declaration may also serve as a definition

3- Identifier Names must be declared before use.

4- A left value (aka I-value) is the address of a variable.

5- The result of relational and logical operators is integer value.
6- A structure declaration does not allocate memory.

7- sizeof finds the size of variable in bits.

8- The default return type of a function is void.

9- External variable statements declare variables defined at global scope in another file.

10- Pointers and references are both addresses.

11- Array must be 1 character longer than the longest string that it holds.

12- Variable name must begin with a letter, which includes an underscore.

13- If a function is called without a prototype in C language, it will not compile.
14- Pass by address decrease efficiency when passing large data types.

15- The index of array goes from 0 to array size.

.......................

(15 marks)
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III. Choose the correct answer: (10 marks)
1- Functions have parts.
a. two b. three c. four d. five
2= mmmemeeeen indicate system header files.
a. # b.< > c.{} 4 -9
3- The size of a float i ===-=smmeemm-n
a. 8 bytes b. 4 bytes c. 1 byte d. 2 to 4 bytes
4- Statements are instructions that terminated with -
a., b.; et d. }
5-\f means
a. form feed b. new line c. horizontal tab d. null
6-int i, j=10; i=--j; results in -=-memvemem-
a.1is9,jis 10 b.iis 10,jis9 c.iis 10,jis 10 d.1is9,jis9
Te ammmmmmeee Loop is tested at the bottom.
a. for b. while c. do-while d. switch
8- A mmmmme e statement creates an alias or new name for an existing type.
a. typedef b. if c. static d. auto
9-If the LHS operand is a pointer to a structure, use the ----------=--- to access the individual element.
a. arrow ( ->) b. dot () c. ampersand sign (&) d. star (*)
10- Using =-=-==-=====- statement is not recommended in C++.
a. break b. if c. continue d. goto
1V. Complete the following tables: (15marks)

A. Correct the compile errors in the blocks of code below:

No Code

Correction

1L if(j%2=1);

cout << j;

2. lintj=1;
while ( j <=100)
cout << j<<"\n';

i+t

b

[ 3. |intx,y;

cin <<x <<y;

4. |lint array{10};

5. |bool E1= "false", E2;
E2=?1E1;




(3

B. Write the output of the following blocks of code:

Code

Output

. lintx=35;

cout << x << 2%x;

. |double a = 5.5;

cout << (int)a/2 <<"\n';

(U%)

. |int num=30;

for (int i=1; i<=num; i++)
if (num%i==90)
cout <<ij<<" '

string ¢ = "hi"";

while (c.length() <6) {
c+=¢;

cout << c¢c<<"\n":

}

int d = 28;

while (d%2==0||d > 1) {
d=d/2;

cout << d <<"\n'"";

}

cout << "Hello.";

string q ="2";
intp=3;
cout << q <<" 242 " << ptp;

int x[] = {10, 20, 30};
cout << x[2];

int times2(int a)
{
return (a*2);
}
int main() {

cout << times2(5);
return 0;

}

10.

cout << "\"\tnnow\"'"";

=== With My Best Wishes ===
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